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(1) Arrange the words given below in a meaningful sequence.
1. Yarn 2.Plant 3. Saree 4. Cotton 5. Cloth

[A]2,4,1,5,3
[B]2,4,3,5,1
[C]12,4,5,1,3
[D]2,4,5,3,1

Answer : [A]
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(2) Arrange the words given below in a meaningful sequence.
1. Puberty 2. Adulthood 3. Childhood
4. Infancy S. Senescence 6. Adolescence
[A]2,4,6,3,1,5
[B]4,3,1,6,2,5
[C14,3,6,2,1,5
[D]5,6,2,3,4,1

Answer : [B]
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(3) Statements:

I. The committee appointed by the Government on the fee structure of the professional courses has drastically reduced the fees of various
courses in comparison to those charged in the last year.

II. The parents of aspiring students seeking admission to professional courses had launched a severe agitation protesting against the high fees
charged by the professional institutes and the admission process was delayed considerably.

[A] Statement I is the cause and statement II is its effect.

[B] Statement II is the cause and statement I is its effect.

[C] Both the statements I and II are independent causes.

[D] Both the statements I and II are effects of independent causes.

[E] Both the statements I and II are effects of some common cause.

Answer : [B]

Explanation:

Since the parents of aspiring students seeking admission to professional courses had launched a severe agitation protesting against the high fess changed

by the professional institutes.
So, the committee was appointed by the Government on the fee structure of professional courses has drastically reduced the fess of previous course.
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(4) A hill always has
[A] Trees

[B] Height

[C] Animals

[D] Water

Answer : [B]
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(5) If P + Q means P is the brother of Q; P x Q means P is the father of Q and P - Q means P is the sister of Q, which of the following relations

shows that I is the niece of K?

[AJK+Y +Z-1


http://myexamportal.com/
http://couponlal.com/
http://examlal.com/
http://joblal.com/
http://examyou.com/
http://myexamportal.com/
http://couponlal.com/
http://examlal.com/
http://joblal.com/
http://examyou.com/
http://myexamportal.com/
http://couponlal.com/
http://examlal.com/
http://joblal.com/
http://examyou.com/
http://myexamportal.com/
http://couponlal.com/
http://examlal.com/
http://joblal.com/
http://examyou.com/

[BJK+YxI-Z
[C1Z-1xY+K
[DIKxY+1-Z

Answer : [B]

Explanation:

K +Y — K is the brother of Y
Y x I — Y is the father of 1
Hence, — K is the uncle of I

and I - Z — 1 is the sister of Z
Hence, — I is the niece of K.
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(6) Anupam said to a lady sitting in a car, "The only daughter of the brother of my wife is the sister-in-law of the brother of your sister." How the
husband of the lady is related to Anupam?
[A] Maternal uncle
[B] Uncle
[C] Father
[D] Son-in-law
Answer : [D]
Explanation:
Anupam's son-in-law is the brother of the lady who was sitting in the car. Hence, the husband is also the son-in-law of Anupam.
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(7) M is the father of N who is the son of V. In order to know the relation of M to P, which of the statement/statements is/are necessary?

1. P is the brother of V.

2. The daughter of N is the granddaughter of V.

[A] Only (1)

[B] Only (2)

[C] Either (1) or (2)

[D] (1) and (2) both

Answer : [A]

Explanation:

M is the father of N and N is the son of V.
Hence, V is the mother of N.

From (1), P is the brother of V

Therefore, M is the brother-in-law of P because V is the wife of M.
From (2), the daughter of N, is the granddaughter of V. From this we do not get any relation of M to P.
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(8) Which one will replace the question mark ?
2121 3
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Answer : [D]
Explanation:
2x2-1)=3

and (5x4-5)=15
(5x5-3)=22.
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(9) Choose the odd one out.

[A] CGON

[B] FIQP

[C]HLTS

[D] LPXW

Answer : [B]

Explanation:

In all other groups, the second, fourth and third letters are respectively four, seven and one steps ahead of the first, second and fourth letters respectively.
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(10) Choose the odd one out.
[A] AEFJ

[B] EHIL

[C] KOPT

[D]UYZD

Answer : [B]

Explanation:

In all other groups, the second and fourth letters are each four steps ahead of the first and third letters respectively, while second and third letters
are,consecutive.
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(11) Question: How many sons does X have ?
Statements:

I. Q and U are brothers of T.
II. Ris sister of P and U.
III. R and T are daughters of X.

[A] Only I and II

[B] Only II and III

[C]AlILL II and HI

[D] I, II and III together are not sufficient
[E] None of these

Answer : [D]

Explanation:

From I, IT and III, we conclude that all P, Q, R, T and U are children of X. Of these, Q and U are male while R and T are female. But the sex of P cannot
be determined.
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(12) A child went 90 m in the East to look for his father, then he turned right and went 20 m. After this he turned right and after going 30 m he
reached to his uncle's house. His father was not there. From there he went 100 m to his north and met his father. How far did he meet his father
from the starting point?

[A]80 m
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[B] 100 m
[C] 140 m
[D] 260 m

Answer : [B]

* 20m

Required distance = AE

= lac?+ EG2

= J(90-3D)2+-(100-20)2

(6012 + (802

= 3600 + 6400
= /1ooon

Explanation: = 1inom
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(13) Sachin walks 20 km towards North. He turns left and walks 40 km. He again turns left and walks 20 km. Finally he moves 20 km after
turning to the left. How far is he from his starting position?
[A] 20 km.
[B] 30 km.
[C] 50 km.
[D] 60 km.
Answer : [A]

Explanation:

40 km
c B

20 km + W E

5

D b
20km E A
Required distance = 40 - 20 = 20 km.
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(14) Statements: All the bottles are boxes. All the boxes are bags. Some bags are trays.
Conclusions:

I. Some bottles are trays.
II. Some trays are boxes.
III. All the bottles are bags.

IV. Some trays are bags.
[A] Only (3) and (4)
[B] Only (1) and (2)
[C] Only (2) and (3)

[D] Only (1) and (4)
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Answer : [A]

Explanation:
Baas Bags
Boxas Boxes
{or)
Trays Trays
Bottles Bottles
{or)
Bags
Boxes
Trays
Bottes
Only (3) and (4) follow.
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(15) A, P, R, X, S and Z are sitting in a row. S and Z are in the centre. A and P are at the ends. R is sitting to the left of A. Who is to the right of P
Y

Answer : [B]

Explanation:
The seating arrangement is as follows:
- - - - - -

P x 5 z R &
Therefore, right of P is X.
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